ECE 540 – Antenna Engineering
W04 – DRV

Homework Set 5 – Due Thursday, Jan 29
1. Consider the field in a thin slot antenna in an infinite PEC that lies in the x-z plane is given by 
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 where the slot is aligned with the z-axis and is centered on the coordinate origin. The slot dimensions length is L=/2 and the width is w<<L.

A. Find the equivalent currents in the slot.

B. Calculate the far field E and H fields.

C. Plot the E-plane and H-plane power patterns.

2. Problem 9-9-1 of textbook.

3. Problem 9-9-3 of textbook.
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